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1. Suppose the price of gasoline rises 10%. If the elasticity of demand for gasoline is 0.2, the quaatity
demarkled of gasoline would
() rise 200%.
(b) fail 10%.
{c) fail 2%.
{d) fall 50%.

2. If an econormist states that the cost of commuting by bus for a rich man is higher than for a poor man, we
would infer the economist was talking zbme the notion of

(a) the invisible hand.

(b) opportunity cost.

{c} the law of diminishing retoumns.

{d) the principle of comparative advantage.

3. The market price in a pesfectly competitive industry in short-run equilibrium is $3 and the minimum average
¢ost for all firms is $2.5(. In the long run, we would expect an increase in

(a) each firm’s output.

(b) each firm’s average cost.

(¢) each firm’s profit

(d) the number of firms.

4. Tariffs are different from quotas becanse they
(a) increase the quantty raded,

{b) decrease the price paid by consumers.

{c) Increase government revenus,

{d) place all the burden of the tax on foreigners.

3. [n which of the following ways is 2 monopolist different from a perfect competitor?
(a) Average cost will continually drop as output expands.

() Price is above marginal cost, .

(¢) The demand cuarve for the indnstry has a negative stope.

(d) All of the above are true.

6. Iz the short run, the firm can not

(a) vary owiput.

(b} respond to an increase in demgnd.
(¢) vary amy of the inputs in production.
(d) vary the physical size of the plant.

7. Atax on zales of a good, when compared to the market equilibrium without the ta, will resultina
price paid by buyers and a quantity traded.

(a) higher; iower .

(b) lpwer, lower

(c) higher; higher

(d) lower; higher.
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£. If the Central Bank wants an expapsionary menetary policy, it contd
(&) reduce interest rates on sevings and time deposits.
(b) reduce discount rate.
{c) sell government securitiss. .
(@ all of the above. |

19. In ar economy that has zero net exports, squilibrium investment is equal to
(a} the government deficit.

() equilibrium savings.

{c) equilibrium savings plus the government deficit.

{d)equilibrivm savings minus government deficit,

10. If real GDP grows at a rate of 3%, velocity is constant, and the money supply is growing at a rate of 6%, the
equilibrium rate of mflation is
(a) 3%.
{b) 6%.
{c) 9%.
{d) 18%.

1}1. Which of the following is most likely to result in a natural monopoly?
{a) Low fixed cost, high vanable cost,
{b) High fixed cost, high variable cost.
{c) High fixed cost, low variable cost.
(d) Low fixed cost, low varizble cost.

12. A firm’s short-rupr supply cueve is
(a) the portion of its marginal cost curve lying on or abave the average total cost curve.
(b) the portion of its marginal cost curve lying on or above the average variable cost curve.
{c) the portion of its average costhariable cost curve lying on or above the marginal cost qurve,
(d) the portion of its average variable cost curve lying on or above the average total cost curve.
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